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1140310 EAE BT sl P00 AR P HEl P002
;?EIJ SO, NOXx CO HCL | OPAC | MASS | SO, NOXx CO HCL | OPAC | MASS
b
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ppm ppm ppm ppm % |Nm3/hr| ppm ppm ppm ppm % | Nm3/hr
00:00 i E3 =08 =1 g =3 2.73 24.72 9.73 7.21 0.88 |74439.28
01:00 i 63 =g =% fE i fEf 2.61 25.93 13.72 7.69 0.88 |75182.62
02:00 i E3 1508 e eding fEf 7.09 2154 | 17.67 8.36 0.88 |75397.55
03:00 B2l BRI = 0 B2 0 243 19.58 11.24 9.41 0.89 |74735.71
04:00 i E3 1508 e g fEf 3.40 20.75 | 10.60 7.19 0.89 |75296.42
05:00 B2l BRI B2l il B2 (ERIE 3.42 20.62 8.29 7.74 0.88 |74774.58
06:00 i =8 1508 e eding fEf 3.54 2314 | 1515 9.46 0.86 |74323.67
07:00 (B3 1= (B3 (e (B (e 3.41 24.09 13.28 9.97 0.87 |75985.33
08:00 i E3 1508 e eding fEf 3.40 26.35 9.25 9.64 0.88 |74411.03
09:00 e = hE = (e 2 = hE 3.47 27.98 10.25 10.69 0.89 |[76584.44
10:00 i 3 1508 e g fEf 2.75 23.06 16.10 7.59 091 |75443.77
11:00 B2l BRI B2l 0 B2 (ERIE 3.04 2453 9.88 8.73 0.89 |75221.94
12:00 i =8 1508 e g fEf 3.01 24.48 6.16 472 0.89 |74266.24
13:00 B3 = =% s =g fEi 7.84 2474 | 13.09 7.43 0.89 |70010.17
14:00 i =5 3 e eding =g | 1085 | 29.11 7.69 9.50 0.90 |74691.59
15:00 f s R s 0 e 0 3.27 23.83 7.46 7.64 091 |71756.45
16:00 i =5 3 e edind s 3.42 25.01 9.47 8.91 0.93 |72458.21
17:00 1=hE (21 2 (e 2 = hE 3.32 23.82 15.01 6.34 0.89 [73449.61
18:00 i =5 3 e eding fEf 3.48 26.88 10.25 9.78 0.91 |72830.07
19:00 (G 1= (G (e G 1= 3.49 27.32 10.22 9.13 0.90 |72539.56
20:00 i =5 3 e eding fEf 3.22 2840 | 12.94 8.13 0.90 |74657.23
21:00 1=hE (21 2 (e 2 = hE 3.38 26.35 14.59 8.42 0.92 [73939.78
22:00 i =5 3 e edind s 2.62 25.47 15.63 7.75 0.92 |73507.90
23:00 s 0 = 0 {1 0 2.78 24.61 14.99 9.35 091 |73788.63




